CS 287 (Advanced Robotics) November 23, 2019

Homework #5
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1C.[10 pts]
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1F. Extra credits
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1G. Extra credits, no examples :) [20 pts]
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2B. Extra credits, no examples :)[20 pts] Loss type 1
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Loss type 2
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2C. Extra Credits[20 pts]
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3A.1 3A.2 Extra Credits[20 pts]

— reinf
4000
£
5 3000
]
¥
o
W' 2000
172}
©
-
1000
0
0 100 200 300 400
lteration
(a) Cheetah
—— reinf
0.04
= 002
3
¢
S 000
4
n
)
4-0.02
-0.04
0 100 200 300 400
Iteration
(b) Ant
— reinf
0.04
- 002
3
¢
§ 000
4
n
)]
4 -0.02
-0.04
0 100 200 300 400
lteration
(c) Hopper

12



3A.3 Extra Credits[10 pts]
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